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integer int = 0;
integer int2 = 0;
vector vpos;
default
touch_start(integer total_number)
vpos = I1GetPos();

11SetStatus(STATUS_PHYSICS,TRUE);
I1SensorRepeat(""*, llDetectedKey(0), AGENT, 30, TWO_PI, 3.0);

sensor(integer total_number)

IIMoveToTarget(l1DetectedPos(0) + <-0.5,-0.5,0.0>, 0.2);
11RotLookAt(11DetectedRot(0), 0.5, 0.5);

no_sensor()
IIMoveToTarget(vpos, 0.2);
I1SensorRemove();

} state_entry()

I1SetTimerEvent(0.1);

}

timer()

1

int++;

int2=int%3;

if(int2==

I1SetTexture('0",ALL_SIDES);

Yelse if(int2 == 1){
I1SetTexture(*'1",ALL_SIDES);

Yelse{
I1SetTexture(*'2",ALL_SIDES);
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